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These questions are for use by Missouri State High School Activities Association members for conference competitions and independent tournaments. The Scholastic Bowl Company of Virginia, using tossups from Virginia High School League competition, writes them. 

There are 36 matches for this use. Each entity (conference or tournament) will be assigned matches for their competition. 

Users of these questions are allowed to distribute the rounds they have been assigned to the competing teams. Sharing these questions with teams not in that competition is not allowed but general discussion of the questions is permitted, as long as answers are not being shared. 
First period: 15 tossups
TOSSUP 1
LITERATURE 

It starts with an old writer describing everyone he has known as ‘grotesque’ and ends with the protagonist leaving town on a train, ‘painting the dreams of his manhood.’ Characters include minister Curtis Hartman, town lovely Belle Carpenter, telegraph operator Wash Williams, and journalist George Willard. The town of Clyde, Ohio, may have been the inspiration for what masterwork by Sherwood Anderson? 

ANSWER: Winesburg, Ohio
TOSSUP 2
SCIENCE 

It was discovered in the decay of the neutral kaon in 1964. James Cronin and Val Fitch won the 1980 Nobel Prize in Physics for its discovery.  It explains why the Universe has more matter than antimatter.  Name this term for the breaking of symmetry involving charge and parity conjugation, as its initials might attest? 

ANSWER: CP violation or charge-parity violation (prompt on ‘CP’)

TOSSUP 3
SOCIAL STUDIES 

His son Cambyses (kam-bee-seez) II conquered Egypt. He rebelled against Astyages (ast-yah-gheez) in 554 BC, conquering his former lords by 546 BC. When Lydia invaded, he defeated Croesus (kree-sus). He then defeated Nabonidus and Belshazzar, and allowed a portion of the Hebrews to return to Jerusalem to re-build the temple. Who conquered the Medes to become the first shahanshah, or ruler of all Persia? 

ANSWER: Cyrus the Great or Cyrus II
TOSSUP 4
SOCIAL STUDIES 

Jesse Hawley conceived the plan to build it while in debtor’s prison. Thomas Jefferson rejected it as ‘a little short of madness.’ The Montezuma Swamp halted construction for several months. An eastern extension to Lake Champlain opened in 1823, and it took another couple years to blast through the Niagara Escarpment. DeWitt Clinton poured Great Lakes water into New York Harbor to open what canal? 

ANSWER: Erie Canal

TOSSUP 5
SOCIAL STUDIES 

The Flynn effect is the observation that scores on it go up about three points per decade. David Wechsler created a scoring system for adults. It was devised in 1905, to identify students who needed extra assistance with schoolwork. Alfred Binet (bih-nay) developed the most famous one. Marilyn vos Savant holds the world record for scoring 228. One hundred is the median score in what measure of one’s brainpower? 

ANSWER: Intelligence quotient test or IQ test (prompt on ‘Stanford-Binet’ before it is said)

TOSSUP 6
SCIENCE 

During World War II, many members of this organization lent their expertise to the Army's 10th Mountain Division.  Ansel Adams spent many years as part of this organization, and organized and photographed many of the club's annual High Trips into Yosemite National Park.  What is this environmental protection group founded by John Muir and named after a mountain range in the western US?

ANSWER: Sierra Club
TOSSUP 7
MATH 

THIS IS A COMPUTATION QUESTION. What is the median of 19, 83, 34, 71, 11, 29, and 52?

ANSWER: 34
TOSSUP 8
MISCELLANEOUS 

He has a brother, Kurn, and a son, Alexander. At age 13, he accidentally killed a human classmate, causing him to realize humans are fragile. Counting all series, he has appeared in more Star Trek episodes than any others; along with O’Brien, he is the only character to appear regularly in two series. What son of Mogh (mohg) was the security officer under Picard on the Enterprise and was the first regularly appearing Klingon?

ANSWER: Lieutenant Worf
TOSSUP 9
MATH 

THIS IS A COMPUTATION QUESTION. To the nearest integer, what is the base 6 log of 8000 given that 6 cubed equals 216?

ANSWER: five
TOSSUP 10
MATH 

THIS IS A COMPUTATION QUESTION. What is the vertical asymptote of y equals x over the quantity x plus 5?

ANSWER: x equals -5
TOSSUP 11
LITERATURE 

Moses Isseries thought only elderly and infirm could eat varieties made with liquids other than water, but Rabbi Yosef Karo thought these varieties, known as ‘egg,’ were acceptable. The Sephardic community typically makes them softer, like a pita, but the Ashkenazi community tends to make them like crackers. What substitute for bread, carefully made to avoid leavening, is eaten by Jewish families during the Passover?

ANSWER: matzo (MAHT-soh) or matza
TOSSUP 12
LANGUAGE ARTS 

This word names the islands in Canada’s Strait of Georgia. It is also the name of an oil company that became famous for its distinctive orange circular logo. It is a generic word for a large, unbridgeable separation, such as that between lovers or in understanding. It is the name of a freeway in Houston, Texas, but what word applies most often to bodies of water such as Carpentaria, Bothnia, Aden, Persian, and Mexican? 

ANSWER: gulf(s)

TOSSUP 13
SCIENCE 

His nephew won a Nobel Prize with James Franck, and his grand-nephew invented medical ultrasound. He built an antenna to detect UHF signals, and since it was in 1888, this was the first time anyone had detected electromagnetic radiation. Albert Einstein explained his observation, the photoelectric effect. What German physicist is honored today with the name of SI unit of frequency? 

ANSWER: Heinrich Rudolf Hertz
TOSSUP 14
LITERATURE 

This fictional Indian was once a chief, but his tribe exiled him for drinking firewater. In a climactic scene, he asks his prisoner to choose ‘the wigwam or the knife of Le Subtil.’ (soo-teel) He assisted the Marquis de Montcalm in his attack on Fort William Henry. What Huron Indian kidnapped Cora, but was shot by Hawkeye in The Last of the Mohicans? 

ANSWER: Magua
TOSSUP 15
FINE ARTS 

The sextet “Recognize a mother in this hug” is performed in this opera when the title character is revealed to be the son of Marcellina (mar-chel-lee-nah). She then marries Bartolo. At the end, the song, “Countess, forgive me,” is sung to Rosina (roh-zee-nah) by her husband, Count Almaviva. What opera by Mozart involves the title character of The Barber of Seville standing next to Susanna at his wedding? 

ANSWER: The Marriage of Figaro or Le nozze di Figaro (lay naw-tsay dee fee-gah-roh)

Second period: 10 toss-ups with 4-part bonuses
TOSSUP 16
MATH 

THIS IS A COMPUTATION QUESTION. What is the volume of a regular pyramid with a square base, and height of 9 meters and base edge length of 8 meters?

ANSWER: 192 cubic meters
BONUS 16
SOCIAL STUDIES 

Identify these legal terms.
A.
What rule allows the use of copyrighted material without permission, such as for a classroom or for a personal backup copy?


ANSWER: fair use 

B.
The opposite of a cease and desist order, this court order requires another government agency or private individual to do something. 


ANSWER: writ of mandamus or write of mandate
C.
A prisoner can declare his imprisonment is unconstitutional with what writ, whose name comes from the Latin for ‘you have the body.’


ANSWER: habeas corpus
D.
After losing an unlawful detainer, what process occurs where a tenant is removed from the property by a police officer or sheriff’s deputy? 


ANSWER: eviction
TOSSUP 17
SCIENCE 

Low levels of it can lead to Kallmann syndrome and high levels of this glycoprotein can lead to premature menopause.  Its main function in men is to enhance the production of androgen-binding protein in the testes and its main function in women is to spur the growth of groups of ovarian cells.  Name this hormone abbreviated FSH.

ANSWER: follicle stimulating hormone (accept FSH before mentioned)

BONUS 17
SOCIAL STUDIES 

Answer these questions about the Missouri Compromise.

A.
In what year was it passed?


ANSWER: 1820
B.
What Kentucky Congressman, known as the ‘Great Compromiser,’ engineered the passage of the Compromise?


ANSWER: Henry Clay
C.
Missouri was admitted as a slave state; what state was admitted as a free state as a part of the Compromise?


ANSWER: Maine
D.
What 1857 Supreme Court decision declared the Compromise unconstitutional?


ANSWER: (Dred) Scott v. Sanford (accept Dred Scott by itself)
TOSSUP 18
SCIENCE 

Named after a nineteenth-century Swiss-born Russian chemist, it depends only on initial and final states.  Name this law of constant heat summation that states that the change in enthalpy of a reaction is the same regardless of what path is used to obtain the products.

ANSWER: Hess’s law

BONUS 18
MATH 

THIS IS A COMPUTATION QUESTION. What are the surface areas of the following?

A.
A sphere of radius 3 feet.

ANSWER: 36 pi square feet
B.
A cube of side length 5 feet.

ANSWER: 150 square feet
C.
A cube of volume 1 cubic foot.
ANSWER: 6 square feet
D.
A box of width 6 feet, length 8 feet, and height 4 feet. 

ANSWER: 208 square feet
TOSSUP 19
LITERATURE 

In this book, the Seven Commandments are constantly broken. Reactionary forces led by Mr. Jones and Mr. Frederick are beaten at the Battle of the Cowshed and the Battle of the Windmill. Most characters have their direct analogue to figures in Soviet history. What book by George Orwell features a power struggle between the pigs Snowball and Napoleon? 

ANSWER: Animal Farm
BONUS 19
MISCELLANEOUS 

Answer the following about the 2006 mid-term US elections.

A. 
The Democrats took back control of both houses of Congress, reversing the gains of this year, when the Republicans captured both houses of Congress.


ANSWER: 1994

B. 
This senator lost the Connecticut primary but ran as an independent and won the election in Novemeber to retain his seat.


ANSWER: Joe Lieberman
C. 
Arizona became the first state to defeat a ballot initiative stating in the state constituion this practice was illegal?


ANSWER: Same-Sex Marriage or gay marriage
D. 
This state saw a battle over stem cell research; that had Rush Limbaugh and Michael J. Fox campaigning for their sides for the month leading up to the election. It passed narrowly.


ANSWER: Missouri 

TOSSUP 20
LITERATURE 

Harold Bloom said this play’s ideal producer would be Mel Brooks. It was inspired by the Roman tragedies of Seneca the Younger, and may have offended Victorian-era sensibilities due to violent scenes including the rape and mutilation of Lavinia, and Queen Tamora of the Goths eating her two sons in a pie. What is this most lamentable and most bloody tragedy by William Shakespeare? 

ANSWER: The Most Lamentable Roman Tragedy of Titus Andronicus

BONUS 20
SCIENCE 

Geologic time is divided into eons, eras, periods, and epochs. Name the current geologic eon, era, period, and epoch.

ANSWER: Phanerozoic eon

Cenozoic era

Neogene period [accept Quaternary period]

Holocene epoch

TOSSUP 21
MATH 

THIS IS A COMPUTATION QUESTION. In degrees, what is the sum of the interior angles of a 20-sided polygon, given that the answer is found using the formula 180 times the quantity n – 2, where n is the number of sides?

ANSWER: 3240 degrees

BONUS 21
MATH 

THIS IS A COMPUTATION QUESTION. What is the value of i to the following powers?

A.
9th power


ANSWER: i
B.
134th power


ANSWER: -1
C.
448th power


ANSWER: 1
D.
1347th power


ANSWER: -i
TOSSUP 22
LANGUAGE ARTS 

In English, forms of what verb can serve as a “dummy” auxiliary to form the interrogative and negative forms of a sentence? 

ANSWER: to do (I know the answer ( I do not know the answer.)

BONUS 22
SCIENCE 

What collective name is given to elements whose electron configurations . . .

A.
End with one electron in an s subshell?

ANSWER: alkali metals [do not accept “alkaline”]

B.
End with five electrons in a p subshell?

ANSWER: halogen(s)

C.
Have partially-filled d subshells?

ANSWER: transition metals (or elements)
D.
Have partially-filled 4f subshells?

ANSWER: lanthanide(s) or lanthanoid(s)
TOSSUP 23
MISCELLANEOUS 

This man's wife is a former art museum curator, and was once confused by Bruce Willis for a pregnant Julia Roberts.  He has been arrested in New Jersey, Las Vegas and Amsterdam, all while wearing a tuxedo.  The instigator of a plot to rob the vault of the Bellagio casino, he was played by George Clooney. Who ‘only lied about being a thief,’ and had the assistance of eleven and twelve other people in two movies? 

ANSWER: Daniel Ocean
BONUS 23
LITERATURE 

Name these female American authors from works.

A.
“Wise Blood” and “A Good Man is Hard to Find.”

ANSWER: Flannery O’Connor

B.
“The Feast of All Saints” and “Interview with the Vampire.”

ANSWER: Anne Rice

C.
“O Pioneers!” and “Death Comes for the Archbishop.”

ANSWER: Willa Cather

D.
“So Big” and “Show Boat.”

ANSWER: Edna Ferber
TOSSUP 24
SOCIAL STUDIES 

Roscoe Hillenkoetter was the first director of this organization, whose creation was opposed by the State and War Departments. In 1974, its ‘Family Jewels’ were discovered, and the Church and Pike Commissions curtailed some of its powers. Its heads have included Stansfield Turner, William Casey, John Deutch, George Tenet, and Porter Goss. What organization has its headquarters in Langley, Virginia? 

ANSWER: Central Intelligence Agency or CIA
BONUS 24
FINE ARTS 

Name these sculptors.

A.
He created "Flamingo," a 53-foot tall "stabile" in Chicago, but is also famous for many smaller "mobiles."

ANSWER: Alexander Calder
B. 
The figure of Dante, extracted from his "Gates of Hell," is known separately as "The Thinker."

ANSWER: Auguste Rodin (roh-dan)

C.
This Ghiberti work, a ten-panel relief on the doors of the baptistry in Florence, inspired Rodin's "Gates of Hell."

ANSWER: Gates of Paradise
D. 
Bernini's most famous marble sculpture depicts "The Ecstasy of" this saint.

ANSWER: St. Teresa
TOSSUP 25
SOCIAL STUDIES 

He defeated his brother Arik Boke (ah-reek boh-keh) to win unchallenged control of his empire. He then split his vast territories into four: the Great, the Kipchak, the Chagatai (chah-gah-tie), and the Ilkhanate (il-kah-nate). He then conquered the Song dynasty, but failed in his attempts to conquer Vietnam and Japan. What Mongol ruler was visited by Marco Polo and inspired a poem by Samuel Taylor Coleridge? 

ANSWER: Kubla(i) Khan
BONUS 25
LITERATURE 

Name these Nobel Prize in Literature winners that were the “first” at something.

A.
The first winner, in 1901.

ANSWER: Sully Prudhomme

B.
The first winner to write in English, in 1907.

ANSWER: Rudyard Kipling

C.
The Indian that was the first non-European winner, in 1913.

ANSWER: Rabindranath Tagore
D.
The Swede that was the first female winner, in 1909.

ANSWER: Selma Lagerlof

HALFTIME
Third period: 15 toss-ups
TOSSUP 26
LANGUAGE ARTS

What is the English translation of the French word vendredi (vawn-druh-dee)? 

ANSWER: Friday 

TOSSUP 27
SCIENCE

Although a vaccine for it exists, there are thirty to fifty million cases of it a year worldwide resulting in about 300,000 deaths.  Caused by a bacterium, it is spread by contact with airborne discharges from infected peoples’ mucous membranes.  Name this disease also known as pertussis that is named after one of its major symptoms.

ANSWER: whooping cough (accept pertussis before mentioned)

TOSSUP 28
SCIENCE

It is named after an Irish scientist and is often confused with Rayleigh scattering.  Since it affects shorter wavelengths of light more than longer wavelengths, it explains why the sky looks blue.  Name this effect in which particles in colloids such as suspensions or emulsions cause light to scatter.

ANSWER: Tyndall effect

TOSSUP 29
MATH

THIS IS A COMPUTATION QUESTION. What is the value of 5 to the fourth power?

ANSWER: 625
TOSSUP 30
MATH

THIS IS A COMPUTATION QUESTION. What is the first double-digit number in the Fibonacci sequence?

ANSWER: 13
TOSSUP 31
FINE ARTS

Early on, he produced Madonna of the Steps and Battle of the Centaurs. He produced a statue, Cupid, which he treated to fraudulently look more ‘ancient.’ Due to a Biblical mistranslation, his seated statue of Moses has horns. He also sculpted the Pietà (pee-ay-tah) and a 17-foot-high statue of David. The Creation of Adam is a part of what artist’s most famous work, the ceiling of the Sistine Chapel? 

ANSWER: Michelangelo Buonaroti

TOSSUP 32
LITERATURE

A drifter shows up at a California diner, and soon begins a passionate affair with the diner’s manager, who is married to a much older man. The first plot to kill the husband only gives him amnesia. The second plot succeeds, but a car accident kills Cora, ending her plan for a life with Frank. What novel by James Cain is notable for the non-appearance of a letter carrier, much less one who makes the doorbell chime? 

ANSWER: The Postman Always Rings Twice
TOSSUP 33
SOCIAL STUDIES

The xiphos (hee-fohs) variety of this weapon was replaced by the spatha type during the later Iron Age. The cross guard, meant to protect the bearer’s hand, was invented by the Normans. In the Renaissance, the ‘tuck’ variety was used to thrust through armor, and the two-handed claymore was used by Scottish Highlanders until the 18th century. What is this weapon that consists of a pommel, a hilt, and a blade? 

ANSWER: sword(s)

TOSSUP 34
LITERATURE

This fictional character is buried in the King’s Chapel graveyard, although at a discreet distance from his lover. After giving his Election Day sermon, he tears open his shirt and confesses his great sin. Some witnesses said they saw some sort of mark on his chest, akin to the one his lover wore on the outside. What minister escapes Chillingworth and confesses his sin with Hester Prynne at the end of The Scarlet Letter? 

ANSWER: Arthur Dimmesdale (accept either)

TOSSUP 35
SOCIAL STUDIES

This company got its current name in 1919 when it started service in Oakland; twelve years earlier, Jim Casey and Claude Ryan founded it in Seattle. Remarkably, it did not start service in all the lower 48 states until 1975. It bought Overnite Express in 2005, and remains in competition with DHL. What corporation is familiar for its trademarked shade of the color brown? 

ANSWER: United Parcel Service or UPS
TOSSUP 36
MISCELLANEOUS

This craft’s flyby revealed large cracks known as "Tiger Stripes", along with large geysers in the southern polar regions of Enceladus (en-sell-AH-dus).  It has captured the first images of seas on Titan, where the Huygens (HOY-ghens) probe landed in 2005.  What is this joint NASA-ESA (spell out ‘ESA’) venture, currently orbiting Saturn?

ANSWER: Cassini
TOSSUP 37
SCIENCE

Researchers have recently discovered that skin cells in mice can be reprogrammed to revert back to this type of cell. Other researchers have discovered a new type that exists in amniotic fluid.  Commonly found in umbilical cord blood and fertilized embryos, these are what kind of cells that can be differentiated into other cell types?

ANSWER: stem cells

TOSSUP 38
SOCIAL STUDIES

A courtyard in its middle contains the Ground Zero Café. 3C232 (three C two-three-two) is a typical office number here, which means that it is between corridors 1 and 2, on the third floor, and in the ‘C’ ring. It has six zip codes, all of which are in Washington, DC, despite the building being located in Arlington. What building is the headquarters of the Department of Defense?

ANSWER: the Pentagon
TOSSUP 39
MATH

THIS IS A COMPUTATION QUESTION. How many points with integer coordinates are on the circle x squared plus y squared equals 25, remembering that some of these integer coordinates can be part of a Pythagorean triple? 

ANSWER: 12
TOSSUP 40
LITERATURE

John Donne violated its strictest form by putting single-syllable verbs in some of his Holy Sonnets. A ‘weak ending’ to it is an extra syllable, as in the line, ‘to be or not to be, that is the question.’ As English’s stress can fall anywhere in the word, it is quite common, appearing in blank verse and the heroic couplet. What five-footed poetic meter has each foot containing an unstressed syllable followed by an stressed syllable? 

ANSWER: iambic pentameter
Fourth period: 10 toss-ups with 4-part bonuses
TOSSUP 41
MISCELLANEOUS

Manufactured by the Wyeth company, it dates from about 1935.  Some of the active ingredients in its various formulations include pramoxine (prah-mawk-seen), hydrocortisone, witch-hazel, and phenylephrine (feh-nil-eh-frin).  It comes in a cream and in a suppository form.  Name this medication for hemorrhoids.

ANSWER: preparation H
BONUS 41
LITERATURE

Identify these Eastern religions.

A.
Spirits, or kami, are worshipped in what indigenous religion of Japan?


ANSWER: Shintoism

B.
The Guru Nanak Dev was the founder of what religion, from which much of India’s army officers have come?


ANSWER: Sikhism
C.
An eternal struggle between Ahura Mazda and Ahriman occurs in what religion?


ANSWER: Zoroastrianism
D.
Founded in 19th century Persia, what religion emphasizes the spiritual unity of all mankind?


ANSWER: Baha’I Faith
TOSSUP 42
SCIENCE

It uses high-frequency alternating voltage and a perpendicular magnetic field.  The world’s largest one is at TRIUMF in British Columbia.  It can be used to treat cancer.  Its inventor won the 1939 Nobel Prize in Physics.  In 1930, Ernest Lawrence invented what circular particle accelerator? 

ANSWER: cyclotron
BONUS 42
MATH

THIS IS A COMPUTATION QUESTION. What are the positive square roots of the following?

A.
7744

ANSWER: 88
B.
4900

ANSWER: 70
C.
2401

ANSWER: 49
D.
784

ANSWER: 28
TOSSUP 43
SOCIAL STUDIES

Those going along it needed money to pay the Barlow Road’s toll. Marcus Whitman led 800 people who braved the risk of dysentery, cholera, and exhaustion in 1843. Landmarks along it included Fort Hall, the Kansas River crossing, and the South Pass, and travelers could shoot buffalo and bears for sustenance. Farmers, carpenters, and bankers traveled what route that terminated in the Willamette (wil-ah-met) Valley? 

ANSWER: Oregon Trail

BONUS 43
MISCELLANEOUS

Given a character from CBS’ comedy How I Met Your Mother, name the actor who portrays that character.

A. 
Barney Stinson

ANSWER: Neil Patrick Harris
B. 
Lily Aldrin 


Alyson Hanningan
C. 
Marshall Erikson 

ANSWER: Jason Segel
D. 
Ted Mosby


ANSWER: Josh Radnor
TOSSUP 44
LITERATURE

As a scout with the 106th Infantry, he was captured by German troops in 1944, and spent the rest of the war in a meat locker in Dresden.  He received a master’s degree from Chicago for his novel about the fictional substance ice-nine, Cat’s Cradle.  Who is this author who passed in 2007, best-known for a novel about a Pilgrim that becomes ‘unstuck in time,’ Slaughterhouse-Five? 

ANSWER: Kurt Vonnegut
BONUS 44
LITERATURE

Name the Nobel Prize in Literature winner given the year and home country.

A.
1999, Germany

ANSWER: Gunter Grass
B.
1901, France


ANSWER: Sully Prudhomme
C.
2005, United Kingdom
ANSWER: Harold Pinter
D.
1990, Mexico


ANSWER: Octavio Paz
TOSSUP 45
SCIENCE

Its chemical formula is N2OC10H12.  Low levels of it are associated with OCD, migraine, and depression.  Its levels are affected by Ecstasy, tricyclic antidepressants, amphetamines, and monoamine oxidase inhibitors.  Name this neurotransmitter that regulates anger, body temperature, sleep, and appetite.

ANSWER: serotonin or 5-hydroxytryptamine
BONUS 45
SCIENCE

Identify these genetics terms:

A. 
The outward manifestation of a particular gene

ANSWER: phenotype [accept word forms for all parts]

B.
A phenotype that is expressed over another phenotype specified by a particular gene

ANSWER: dominant phenotype

C.
An organism that has two different alleles for a given gene

ANSWER: heterozygous or heterozygote
D.
A change in the DNA sequence of an allele, that results in a new allele that may or may not result in the same phenotype as the original

ANSWER: mutation 

TOSSUP 46
SOCIAL STUDIES

He was given the title Marques (mar-kays) del Valle de Oaxaca (wah-hah-kah) in 1528. He once climbed on Charles V’s carriage and said he had ‘given you more provinces than your ancestors left you cities.’ He discovered that Baja California was a peninsula, and was the original namesake for the Gulf of California. Who used La Malinche (mah-leen-chay) as his translator while conquering the Aztecs? 

ANSWER: Hernan(do) Cortes
BONUS 46
SOCIAL STUDIES

Answer these questions about the Spanish-American War.
A.
In what year was the war?


ANSWER: 1898
B.
What ship blew up in Havana Harbor on February 15, 1898?


ANSWER: USS Maine
C.
Who was President during the war?

ANSWER: William McKinley
D.
What Commodore won the Battle of Manila Bay?

ANSWER: George Dewey
TOSSUP 47
LITERATURE

This work’s prologue outlines the ideas of the older generation, middle generation, and the sophists. In it, through a series of dialogues, justice is ruled better than injustice. The analogy of the divided line, the allegory of the cave, idea of the good, and rule by philosopher-kings are concepts contained in what work by Plato in which the ideal government is discussed? 

ANSWER: The Republic
BONUS 47
MATH

THIS IS A COMPUTATION QUESTION. What are the means of the following?

A.
34, 86, 12, and 48.

ANSWER: 45
B.
26, 84, 13, and 77.

ANSWER: 50
C.
41, 89, 23, 37, 14, and 36.
ANSWER: 40
D.
11, 29, 43, 27, 88, and 72.
ANSWER: 45
TOSSUP 48
MATH

It has seen two renames, the first due to a trademark dispute, and the second due to a conflict with a database server. The Debian project, in order to provide the software with only free components, removed the Talkback plugin, and gave the application the name Iceweasel.  The Gecko rendering engine is in what open-source web browser created by the Mozilla (MO-zill-uh) Foundation as an alternative to Internet Explorer?

ANSWER: Firefox
BONUS 48
SCIENCE

Answer these questions about electric circuits:

A.
What term describes circuit elements that produce voltage drops between their terminals?

ANSWER: resistors

B. 
Which law relates the resistance of a circuit to the voltage drop across the resistor and the current flowing through the circuit?

ANSWER: Ohm's law

C. 
THIS IS A COMPUTATION QUESTION. In a circuit that contains only a 9-volt battery and a resistor, if the current is 1.5 amperes, what is the resistance, in ohms?

ANSWER: 6 ohms

D. 
What term describes the connection of resistors one after another, so that they are equivalent to a single larger resistor?

ANSWER: series connection [accept serial connection or variants]

TOSSUP 49
FINE ARTS

Fifty mounted cannon and over a “thousand reeds springing up like weeds” were merely part of the ensemble visualized in this song. It is sung right after the love ballad “Goodnight My Someone” and in fact has the exact same tune. The title objects are followed by “rows and rows of the finest virtuosos” and have “a hundred and ten cornets close at hand.” What is this most famous song from The Music Man? 

ANSWER: “Seventy-Six Trombones”

BONUS 49
LANGUAGE ARTS

Give the language of origin of the following words.

A.
mensch

ANSWER: Yiddish
B.
potpourri

ANSWER: French

C.
graffiti


ANSWER: Italian

D.
Harlem


ANSWER: Dutch
TOSSUP 50
MATH

Gelfond’s theorem helps determine if a number is of this type or not.  They are all irrational, but not all irrationals are this type of number.  Examples of them include e, pi times e to the pi power, and Liouville numbers.  Name this type of number that is not algebraic and shares its name with the philosophy of Thoreau and Emerson.

ANSWER: transcendental
BONUS 50
SOCIAL STUDIES

Answer these questions about ancient Egypt.
A.
What pharaoh that ruled between 1279 and 1213 BC fought the Battle of Kadesh, and may have been the pharaoh portrayed in the Bible book of Exodus?
ANSWER: Ramses the Great or Ramses II (accept Ramesses instead of Ramses)
B.
Who was the Great Royal Wife of Akhenaten, a woman whose bust is on display in Berlin’s Altes Museum? 

ANSWER: Nefertiti
C.
Fifteen kings, all of whom were descended from one of Alexander the Great’s generals, with what name ruled Egypt between 367 BC and 30 BC? 

ANSWER: Ptolemy
D.
Ahmose I drove out what Asiatic people that ruled Egypt between the Middle and New Kingdoms? 

ANSWER: Hyksos
END OF MATCH

Spare questions
TOSSUP 51
SOCIAL STUDIES

The term was invented by Mirabeau in 1763 and made popular by Adam Smith. Its ideas were reflected in Germany’s Historical School and in the American School of Alexander Hamilton. While some disagreed over the wisdom of government-sanctioned monopolies, all agreed that trade was a zero-sum game. What economic school that dominated between 1500 and 1750 thought that a nation should accumulate bullion?

ANSWER: mercantilism
BONUS 51
FINE ARTS

Identify these Beethoven works.
A.
Which of Beethoven’s symphonies is also known as the ‘Pastoral?’


ANSWER: Sixth
B.
What was his only opera?


ANSWER: Fidelio
C.
What is the more popular name of the Piano Sonata No. 14 in C-sharp minor?


ANSWER: “Moonlight” 

D.
What is the nickname of the “Bagatelle in A minor,” a solo piece for piano?


ANSWER: “Für Elise”
TOSSUP 52
MISCELLANEOUS

LAST NAME ONLY NEEDED. They often share editing credits under the pseudonym ‘Roderick James.’ One has been married to Frances McDormand for 23 years. They often work with T-Bone Burnett in their dark, regionally-themed comedies. They are releasing No Country for Old Men this year, their first work since 2004’s The Ladykillers. Who directed The Big Lebowski, Fargo, and O Brother, Where Art Thou? 

ANSWER: Joel & Ethan Coen (Accept Coen Brothers or equivalents, as long as Coen is mentioned)

BONUS 52
SCIENCE

It is used to emulsify fats.

A.
Name this alkaline fluid released into the digestive tract.

ANSWER: bile
B.
Bile is normally synthesized in this organ.

ANSWER: liver
C.
In humans, bile is normally stored in this organ.

ANSWER: gallbladder
D.
Bile is released from the gallbladder into this first part of the small intestine.

ANSWER: duodenum
TOSSUP 53
FINE ARTS

At 6 feet, 8 inches, it was big; Pierre-August Renoir called it a ‘big gendarme’ (zhawn-darm). Its base states that it was sculpted by Alexandros of Antioch, but the first experts to look at it thought it was a work of Praxiteles (prak-sih-tuh-leez). What statue might be holding the golden apple won at the Judgment of Paris, if only its arms were still attached? 

ANSWER: Venus de Milo(s) (accept “Aphrodite” in place of “Venus”)

BONUS 53
LITERATURE

Name these novels by Pat Conroy from descriptions.

A.
This 1972 novel is based on Conroy’s experiences teaching on the remote Danfuskie Island in South Carolina.

ANSWER: The Water Is Wide

B.
Will McLean is the protagonist of this 1980 novel based on Conroy’s experiences at The Citadel.

ANSWER: The Lords of Discipline

C.
Tom Wingo struggles to overcome his dysfunctional South Carolina upbringing in this 1986 novel that was adapted into a movie five years later.

ANSWER: The Prince of Tides

D.
Jack McCall is a widower living in Rome with his daughter in this 1995 novel that also explores World War II and the Holocaust.

ANSWER: Beach Music

TOSSUP 54
SCIENCE

It's not a road, but it runs through both Richmond and Fredericksburg, and generally parallels Interstate 95.  During the settlement of Virginia, many cities were founded along this because at this point, the sandy soils of the Coastal Plain erode easily when compared to the red clay and granite to the west. This creates rapids that mark what limit of navigation on coastal rivers in Virginia?

ANSWER: fall line
BONUS 54
SOCIAL STUDIES

Answer these questions about 20th century French history.

A.
750,000 casualties were suffered in what World War I battle fought between February and December 1916? 


ANSWER: Verdun
B.
What line of fortifications was built after World War I but was bypassed when Hitler invaded through the Ardennes Forest? 

ANSWER: Maginot (mah-ZHEE-noh) Line
C.
What leader of the Free French was the first President of the Fifth Republic?

ANSWER: Charles de Gaulle
D.
Who served two terms as President of France, doing so between 1981 and 1995?

ANSWER: Francois Maurice Adrien Marie Mitterand
TOSSUP 55
MATH

THIS IS A COMPUTATION QUESTION. In lowest terms, what is 4/5 plus 2/3 minus 1/2, remembering that the least common multiple of 5, 3, and 2 is 30?

ANSWER: 29/30
BONUS 55
LANGUAGE ARTS

Consider the French verb perdre (PAIR-druh), or ‘to lose.’ Given a tense, person, and number, conjugate the verb.
A.
Present, first person singular.


ANSWER: (je) perds (pair)
B.
Imparfait (am-par-FAY), third person singular.

ANSWER: (il/elle/on) perdait (pair-DAY)
C.
Conditional, second person plural.

ANSWER: (vous) perdriez (pair-dree-AY)
D.
Passé (pah-SAY) composé (kohm-poh-ZAY), first person plural.

ANSWER: (nous) avons perdu (ah-VOHN pair-DOO)
TOSSUP 56
LANGUAGE ARTS

In graph theory, it is an edge joining two non-adjacent nodes in a cycle.  In geometry, a secant line is the line extension of it and if it is in a circle, its perpendicular bisector passes through the circle’s center.  Name this term for a line segment with both endpoints on a curve that shares its name with a musical term for simultaneously sounded musical pitches.

ANSWER: chord
BONUS 56
MISCELLANEOUS

Given a short description of an interchange, name the type.

A. 
This interchange uses the same acceleration and deceleration lane and gets it name from its shape.


ANSWER: Cloverleaf
B. 
This interchange uses either stoplights or stop signs at the end of deceleration lane to control traffic.


ANSWER: Diamond
C. 
These interchanges are used mostly when more than two major road merge at the same spot.


ANSWER: Directional
D. 
This interchange is used when a road ends at the intersection.


ANSWER: Trumpet 
TOSSUP 57
LITERATURE

His writings include the novels Pierre et Jean (pee-air ay zhawn) and Bel-Ami (bel-ah-mee) and the poetry collection Des Vers (day vair). However, the influence of Gustave Flaubert (floh-bair) led him to write short stories, including ‘Mademoiselle Fifi’ and ‘Deux Amis’ (doo-zah-mee). What Frenchman is probably best-known for writing ‘Boule de Suif’ (bool deh sweef) and ‘The Necklace’?

ANSWER: (Henri René Albert) Guy de Maupassant (moh-pah-sawn)
BONUS 57
MATH

THIS IS A COMPUTATION QUESTION. Convert the following decimal numbers into binary.

A.
38

ANSWER: 100110
B.
67

ANSWER: 1000011
C.
135

ANSWER: 10000111
D.
44

ANSWER: 101100
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